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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any six questions: 1x6=6

(@I =B A4F Ted 78 ¢

a)

b)

d)

What is 'Modem'?

‘e e

What is the basic principle of diffusion pump?
I AT TS 2

What type of impurity is added to produce

n-type semiconductor? Give one example.

n-type SIIf5Q1Z Todite [ w@eTa wifiefz a7z
31 2 2 930 Twizge wie |

What are the two universal logic gates?

I 257 o s (ofb e 2

[Turn over]

e) Name two conventional energy sources.
v abfere *Ife Trm a1 @14 |

f)  What is demodulation?
PN BICP ACST 2

g) What is the function of a rectifier?
GFAFAEE e 2

h) Name two most commonly used
semiconducting materials.
w'fb T2 azre SRR AN @14 |

2. Answer any seven questions: 2xT7=14

- ATS(B A Ted 7S ¢

a)

b)

d)
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What is the function of Control unit in C.P.U.?

L1389 ICHE B80T I 62

Write down the characteristics of an ideal
OP-AMP.

&6 = OP-AMP-93 AR Bafe i 52

Find the relation between current

amplification factor oo and B of a transistor.

GINPPSEs 2qig R aoF o @ B - S0 TofF
o <41

What do you mean by Core and Cladding of an
Optical Fibre?

IEFT ©8d @R ¢ ‘Gt Fece F @Rie

[2]



b)
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e¢) Name two conventional and two non-
conventional energy sources.
w'fG epfere 7' Sieblers *ife Srra N 14 |
f)  Mention the advantages of ionization gauge.
SR (50 ARl S 39| *
g)  What do you mean by stimulated emission?
Twlfers fzomsel FeTce 6 @Rl ?
h) State two De-Morgan's theorem.
fC-s=eliics St 71 fige <5 | d)
i)  What do you mean by bandwidth of amplifier?
fadea +ifbeg <eice & @ie
3.  Answer any five questions: 6x5=30
(T-(HIAI 2Hofs v Teg s ¢
a)  What is flowchart? Draw a flowchart to get
smaller number between two given numbers. e)

2+4

GFIBTS FIC A0 2 eme v 6 AR ey (=l =2ifo
2 & @FIic todt 5411

Define NOT gate. Explain its operation with a

ckt diagram. Write down its truth table. How

an OR-gate is produced using NAND gate?
1+2+1+2
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NOT (557 7kl 7S | €3 (516 FIEAA! Toye
IS @S Ay 91 NOT-gate-ad Truth
Table-Ts (714 | FeIita NAND gate-43 712/ OR-
gate Cod A2

What is 'Green House Effect'? Write down the
advantages and disadvantages of nuclear fission

process in getting atomic energy. 2+4

‘e far e FeFw Terew swfore
AR =i SR Ak e spfRaef @)

What are the functions of Data Bus and
ADDRESS Bus in a computer? Mention the
SYNTAX of following DOS commands:

FBHIET (COIRM 8 AR Fe F 2
fS5ferRe DOS commandwfera SYNTAX S
P93

CD, COPY, DEL, DISCOPY 2+4

Write down the full form of:

i)  FORTRAN,
ii) BASIC,
iii) COBOL

Discuss about the internal construction of
floppy. 3+3



g)
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Rlere *rafm 2@l i 62

i)  FORTRAN,

ii) BASIC,

iii) COBOL

F1o1R ST H~[(S S 4 |

What are the different types of line of
propagation? What is optical fibre? Write
down two advantages of optical fibre in

comparison to cable. What is leaky mode loss
in optical fibre? 2+1+2+1

fafen qaea ARl [ & 2 SiEdn og FiE
AR Trard F9 | SEIRT (O IFolGiel® o653
IICF A2

Describe with diagram the working principle
of a Hyvac Rotary Oil Pump. What are the
advantages of this pump? 4+2

TSI @I W 2Ni IS ez
3ofql 9| @2 AT e & 52
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4.  Answer any one of the following questions:

10x1=10

@-(FI @6 AT Ted 18 ¢

a)

b)
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What is an amplifier? Classify it. What is
feedback of an amplifier? Show that negative
feedback to an amplifier provides extra
stability in its gain. What is an OP-AMP?
Where is it used? 1+2+1+4+1+1

R I et 2 e @difere 4 | [Reda

S FIE AT A (@, AT AT
fRdwa @da sffge 1 OP-AMP F( (=12
OP-AMP-93 JR2F (IR 272

i)  Write a program to determine the roots

of a quadratic equation.
fale R e MR e @9

11)  Write a program to find the largest

number among three given numbers.

2vre foaB 7L S0y FAGE I8 7 oz
AT (AT @4 |

111)  Write a program to find area of a triangle.
4+4+2

a0 fqgred wawe NI (@ials @2 |
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Write down the equivalent decimal no. of
(11011.11). Find the subtraction of following
binary no. (11010-00101). How an OR-gate
is constructed with the help of NAND gates
and an AND-gate is constructed with the help
of NOR-gates? Construct half-adder circuit
and write its truth table. 2+1+2+2+2+1

(11011.11) Taa1Ra7ibe wifsis SR pi <541 |
fmfarfs faamy o Risree fda w4 ¢

(11010-00101)

@eit@ NAND gate-a3 121y OR-gate 8 NOR-
gate-43 AR AND-gate (93! F4I T2 40
SN RHIACHT TG 1b ST 9 9% 93 52 GReAD
@4



